
Ersatzteilliste

www.yanase.at www.ra-technik.com

SCHNEEFRÄSE 55-5 Serie
                      

Seriennummer:
           > 4055491

  



0 

,::,::_,:: ~ u -;:( 
*~:g:B~~ 

4055491 J;.,{-

405-1 

-

------------il?~'lzl-------o4_o-_55_o5R__,1 



405-1 7 v-Aäß 

71 12 ,j 10 

! 69~ df .\, 

~ 
56~ B 

·~ 

36~ 
57 

Ji!. tll No. flß ~ • is" flß C et f,Ji "" 
60 901 - 4017 - G A~;f{Jt;f, (N, W, SWf,t) 
61 002 - 4170 -+J-1 F-:z-n-
62 906-1223 ~ffl:ttlffi;f{11., r 
63 916-5205-B 1Nt;A~-f- -:1 r (SW f,t) 
64 040- 2910 7-.7 1,1-1'~ 

65 929 -4205 SJZ~~ <*1!) 
66 916- 5205-B 1Nt;A~-f- -:1 r (SW f,t) 
67 040- 0751 ~~tJ1 F 
68 916-1204-B A~-f- -:1 r (SW N) 
69 , 040 - 1361 Fv::..,-r.:i.--:1 

70 812 - 1010 ;'./-Jl,'7 o/ 1/ 1' 
71 ! 902 - 2551 ,Nt;/\~ ;!{11., r 

3 

m m 
M6 x 20 (8T) 

M8x 20 
M8 

M8 
M8 

M6 

WFlO 
MlO x Pl.25 x 16 

-1-

f<'1-i 
.., 

58 
6 

.., 

14 
16 :'o/~' ~ 

• '--._._ 15 

' 

h „ 
i-118 

00~ fit 
2 
1 ~l±6ii 
2 ~l±6ii 
2 ~l±6ii 
1 
6 
6 
1 
1 
1 

1 
1 

~ 

u 



7 v-A$ 405-1 
Ji tl:l No. ffB a'ldlt ~ ffB C et f,r, ~ ~ 00 li1 • ~ DD 

0 
1 040- 0524 /'\:.., F11., 1 

1 

3 822- 4304 ~~ 2 

' 

6 902-4034-B 7\~ ;f-';L, 1-- (SW {i) M8 x 25 (8T) 4 
7 040- 0900 7'1J /fÄ&Ä j--7 1-- :..,.:c.:..,1/:.., -f;-7 ;L, 130232 1 Y55 - 5ffl 

041 - 0901 71) ·'/7-.&Ä r-7 1-- :..,.:c.:..,1/:.., -f;-7 JI., 130237 1 Y55- 5Sffl 
8 916- 5205- B 1Nf3°A~ 1- ·1 1-- (SW {i) M8 4 
9 040- 0202 .:c. :.., 1/ :.., 7 - 1) 1 

10 941 - 2383 SF-fi-t-- 3/16 X 3/16 X 45 1 
11 040- 0480 .:c.:.., F7° v- 1-- 1 
12 801- 5257 - B ,N:f3°A~ ;ff;t, 1-- (SW11) W5/16 X 20 3 1:77{~§ 24LlJ/{1/f 
13 040 - 0912 .,,.z;1., Hffl:z 2 
14 040 - 0015 ; 1' :..,7 v-.L. 1 
15 040 - 1201 1) i7tJ1,- 1 
16 902- 2032 - B 1Nf3°A~ ;ff;L, 1-- (SW 11) M8 X 16 5 
17 902 - 0213 7:..,J/-tJ1,- 1 
18 901 - 4015 - F 7\~ ;ff ;L, 1-- (SW, W {i) M6 x 12 (8T) 4 
19 901- 4016 - B 7\~ ;ff ;L, 1-- (SW {i) M6 x 16 (8T) 2 

20 040- 0404 WJ:007 v-.L. 1 
21 902-4032-B 1Nf3°A~ ;f-·11., 1-- (SW{i) M8 x 16 (8T) 4 
22 005 - 4520R 'J 1) ({5) 1 
23 005- 4520L 'J 1) (ti.) 1 
24 902- 2032-B 1Nf3°A~ ;ff11., 1-- (SW{i) M8x 16 2 
25 902- 2032 - F 1Nf.~°A~ ;ff 11., 1-- (SW, W 11) M8 X 16 2 
26 040 - 0731 ::,, .1 - r- lfü1-ß' 1 
27 040 - 0891 ::,, .1 - 1-- ,rn~ mu 1 
28 040 - 0880 ::,, .1 - 1-- ,rn~ Cf) 1 
29 040 - 0850 ;/ .1 - 1-- 7 1) o/ 7 3 

30 901-4015-F 7\~ ;f-';L, 1-- (SW, W {i) M6 x 12 (8T) 6 
31 040- 2670 *~~1i2~ 2 
32 908 - 1213 - D (3:)tJ---<tNJ t (N, SW f,t) M4 X 10 2 
33 040 - 1720 *~ 1 
34 040 - 0703 :/.1-I-- 1 
35 916-1204-B 7\~1- ·1 1-- (SW {i) M6 5 
36 929- 4204 SF-lilisi2 (*~) M6 7 
37 040 - 2200 ;/ .1 - 1---t- i' o/ 7°=1'.L. 1 
38 040- 0711 :/.1- 1--4'--t o/7 1 
39 040- 0721 :/.1- r-'71'1'777'1 1-- 1 

40 040-2170 t :..,-+r-7-.1'.,, "f- 1 
41 040- 2160 t :..,-+r-Ä -1 '1 "rf!B 1 
42 040 - 2180 ~ t ~ / q,, (ir.) 1 
43 040 - 2190 ~ t ~ /'\* ({5) 1 
44 040 - 2370 t :..,-+r-7-.1'.,, r~m--r-1.,. 1 
45 040 - 2380 t :..,-+r-7-.1' -1 r~m□ .,, F 1 
46 901 - 2033 - B 7\~ ;f-';L, 1-- (SW {i) M5 X 12 2 
47 931 - 1120 Ä 71) :..,7't0

:.., 4 X 16 1 
48 916 - 1204 7\~1- '1 1-- M6 2 
49 929 - 2204 SF-lili1i2 M6 4 

50 040 - 2410 -::1'.L.1 -{ '1 -t-:.., 1 
51 929 - 2206 SF-!ilisi2 MlO 1 
52 930 - 0228 !W t":.., 3 X 20 1 
53 040- 2150 Ä-1 '1 "f-tJ1,- SA- lONGID! 1 
54 834- 0003 7•' □ ; o/ 1-- No. A 1 
55 911 - 3210 (±) 7 .,, t 0 

:.., .t- 1/ 3 X 10 (fJ.r<) 2 
56 040 - 0353 /'(JI., 1-- tJ /, _ 1 
57 901-4016-B 7\~ ;ff;L, 1-- (SW {i) Ml6 x 16 (8T) 4 
58 040- 1900 'Y- Jl.,;f-'-;, 7 Ä 1 
59 000- 2350 'Y - Jl.,;f-' '1 7 7-.IllM1i2~ 1 

-2-



405-1 vr(-~ 

93 

-3-

1 

2 
1 

~-
1 4 ' ;' 41 

9 

(j 

(J 

: '1 
''-....../ 



VI~-$ 405-1 
Je 1:11 No. 'llßdb1it~ 'llß C ß ~ :m m M~ too ~ CD 

0 
1 040 - 0564 1\';r-.JI., 1 
2 040 - 0591 tf,{ F7°v- 1- 1 1 

3 911-3310 Et)J-yt•::.,,;t-_:) 3 X 10 (tJ«) 6 
4 754 - 0001 ii~Ä-1 "IT 1 Y55 - 5ffi 
5 916 - 5205- B 1Nf3t-;tq1- o/ 1- (SW {i) M8 1 Y55 - 5/tl ' 

6 040 - 0931 Ä □ o/ f-Jl.,]./1{- 1 
7 901 - 4015 - B 1\%1 ,tf ;t, 1- (SW {i) M6 X 12 (8T) 2 
8 040 - 1311 77 •;,7]./1{-fil! 1 
9 040 - 1293 'Jf"-tf75 •;,7]./1{- 1 
10 936 - 1112 Gfül!:.)fHu S-12 1 

11 040 - 1811 /',::.,, t,;'JI., □ ';! 7 t,11{-fil! 1 
12 901-4016 - B A%1 ;f-;'Jt, 1- (SW 11) M6 X 16 (8T) 7 
13 916- 5206 - B lj\füA%1T o/ 1- (SW {i) MlO 2 
14 040 - 2120 '7,{-\7-1)::.,,7 1 
15 930- 0208 '.jl!lj t" / 2 X 16 6 
16 040- 0664 77'YT7-k 1 
17 040 - 0651 ~;im ]./ / { - 1 
18 040 - 0642 Failfil 2 
19 902 - 2033 - F lj\fü/\%1 ,tf ;t, 1- (W, sw {i) M8 x 20 1 
20 902 - 2033- G 1Nf~:t-;PJ ;tf;t, t- (1Nf3 N, sw, w f;t) M8 x20 1 

0 21 040 - 1602 J_,,;{-~Ä 1- 1 
22 040 - 1450 7•;,1/-1 8XlQ 1 
23 824 - 1220 @Hit·::.,, 8 X 40 1 
24 929 - 4204 SfZ/fil~ (:}\:~) M6 2 
25 901 - 4015- B 1\%1 ;j-;'Jt, 1- (SW {i) M6 x 12 (8T) 1 
26 930- 0228 '.jl!lj t 0

::.,, 3 X 20 3 
27 040 - 0362 :iits □ •;, F 1 
28 916 - 5205L 1]\jf3/\jq 1- o/ 1- M8 (ir.) 1 
29 040 - 1660 7 - / I { o/ 7 )1., 1 

31 040 - 1670 7 ,{ ;f-'JI., 1- 1 
32 040 - 1610 Ä l--;,1\' 1 
33 706 - 1216 Ä7 1) ::.,,7•' 2 
34 916 - 5205 lj\füA%1 T ';! 1- M8 1 
35 916 - 6205 lj\fül\%1T 'Y 1- (3 :fl) M8 1 
36 824 - 1212 @Hit•::.,, 6 X 30 1 
37 824 - 1211 @Hit·::.,, 6 X 25 1 
38 040- 0684 jEfi7 5 o/ 1-17 '11' 1 
39 705 - 3218 Ä 7 1) ::.,,7•' 1 
40 822 - 1301 w~ IJ>f(f 10 1 'tJf; 

41 822 - 1301 w~ IJ>f(f 10 ·2 
42 009 - 0231 7'-::.,,:,,3 ::.,,7-L. ('Jf"-tf) 1 
43 040- 0221 T::.,,::,, 3 ::.,,7-L. (jEfi) 1 
44 005 - 1270 7'-::.,,:,,3::.,,7-J..,. 2 

46 936 - 1015 C ff3 l!:.) f'1i S-15 2 
47 705- 5243 Ä 7 1) ::.,,7' 1 

50 930- 0230 '.jl!lj t"::.,, 3 X 25 1 

52 040- 2031 J_,,;{-~Ä 1- 7'5 '"r ';! 1- 1 
53 901-4016-B Ajq ,f;t, 1- (SW {i) M6 X 16 (8T) 2 
54 040 - 2041 ]./1{-~Ä f- 1 
55 040 -1460 7'-y 1/-1 10 X 10 4 
56 929 - 2206 SfZ!fil~ MlO 2 
57 824- 2296 @Hit·::.,, 6 X 14 1 
58 040 - 0674 'Jf"-tf7 5 o/ 7'7,{-\7 1 
59 040 - 2430 _Ä1\',{ 7 Jl.,1- -1-7' 1 
60 705 - 5238 Ä 7 1) ::.,,7' 1 

-4-



81 

15 . ;...~ 
~ ~80 
;--82 
iJ 

tl-41 
1 

~ 

-5-

13 

2~ 
101({<;\~ 

~ . 

; 41 

9 



vr<-$ 405-1 
j! t±l No. $~*~ $ C ~ f,Ji ~ m 00 ~ til ~ ~~ 

62 040 - 0761 r'J * -L. 1 ; 

63 910- 4108 A~'.AfiJlJ t- :J M6 X 8 1 
64 040 - 0772 ?-i;--L.7'=jJr"J 1- 1 

' 65 902-2032-F 1J\%A~ ;f ;t,, 1- (W, SW fi) MSx 16 1 
66 040 - 0815 r; -i;- -L.tm 1 
67 040 - 0783 r'J-j;--.L,.fffi'7~ 1 
68 902-2033-F 1J\%A~ ;f h 1- (W, SW {1) MSx 20 1 
69 833 - 1202 .1.::..1,--lj-Jl,,:) 3 .,( / f- 1 
70 931 - 1190 Ä -j'IJ :.,,~lt':.,, 4.5 X 20 1 

71 930 - 0241 iu t':.,, 4 X 32 1 
72 040 - 0793 N'.§'1:floJlif/jJRIJI' / F Jl,, 1 
73 821 - 1001 @J~IPJ 1 
74 916 - 5206 ,J\%A~ -t--:; 1- MlO 1 
75 040- 0841 1/ .1 - 1- -t- ;, -:; 7°~ff: v 1 ' - 1 
76 929- 2207 siz~~ M12 1 
77 927 - 4109 .1Ill1,;j,. P,P(f 12 2 
78 916 - 5257 1J\%A~-t--:; 1- (~§) M12 (Pl.5) 1 
79 919-4257 1J\%A~~-t- ·1 1- (3%, *[B§) M12 (Pl.5) 1 
80 824 - 1207 ifJH1t':.,, 6 X 16 2 

81 040 - 0694 1/ .1 - 1- -t- ;, ':J 7°~{'1= 17 -1 -V 1 
82 705- 1524 Ä 7° I} :,_,7' 1 
83 040- 0941 Ä □ -:;l-h'7-1-V 1 
84 040 - 1271 7•:J1/3/=1L. 1 
85 902-4035-D ,J\%A~ ;r-·;1,, 1- (1]\Jf;N, SW {1) MS x 30 (ST) 1 
86 916 - 6205 ,J\%A~ -t- ·1 1- MS (3fflD 1 
87 902 - 2035 1Nf3A~ if ;t,, 1- MS x 30 1 
88 916 - 2205 'J \Jf;A~ -t- -:; 1- MS 6 
89 929 - 2205 siz~~ MS 2 
90 705 - 4231 Ä 7° I} :,_,7•' 1 

91 916 - 2204 A~-t--:; 1- M6 4 
92 901 - 4017 A~if;t,, 1- M6 x 20 (ST) 1 
93 040 ~ 2260 -e-7-r177'Y7 1 
94 901 - 4019- C A~ ;r-·;1,, 1- (W fi) MS x 30 (ST) 2 
95 902 - 6036 lj\)r;A~ ;f-'Jl,, 1- MS X 35 (:'.f:t- ::)) 1 
96 040 - 2240 Ä5-1FÄ-r- 1 
97 040- 2250 ra~~ 1 
98 040 - 2230 0 o/ ~- 1 
99 834 -1005 Jm{i 7' 0 j ':J 1- SG20A 1 

0 
100 930 - 0273 iut':.,, 3 X 16 1 

101 040 - 2100 fl}~i/JÄ-1 ':J f-I!JZ{i~ 1 
102 902 - 2032-B lj\)r;A~ ;f-';l,, 1- (SW {i) MS x 16 1 
103 902- 4037 l]\%A~ if ;t,, 1- MS x 40 (ST) 1 
104 806 - 8203 lj\)r;A~T-10 /T o/ f- MS 1 
105 040 - 2420 '7 -1 -V 7 1) o/ 7° 5 
106 016 - 0070 '7-1-VÄ-r- 1 
107 801 - 1206 - B A~if;t,, 1- (SW{i) Wl/4 X 20 1 
108 016 - 0080 ~~ 1 
109 040- 2440 -r :.,, 1/ 3 :,, 7° - 1Hm 1 
110 916- 3206 -F A~-t- ·1 1- (W, SW {1) MlO (3:fl) 1 

111 040 - 1691 •:i v--t- 1/ .::i. - 1 
112 901 - 4017 - D A~ ;f ;t,, 1- (N, SW {1) M6 X 20 (8) 1 
113 824-1240 mH1 t':.,, 12 X 50 1 

-6-



405-1 :7' □ 9 , ;t-:t.fäß 

26 0 

20 

20 

~ 
20 22 

-7-



1/1";, 
\_) 

~t:l:!No. 

Ass'y 
1 
2 
3 
4 
5 
6 
7 
8 
9 

10 
11 
12 
13 
14 
15 
16 
17 
18 
19 

20 
21 
22 
23 
24 
25 
26 
27 
28 
29 

30 
31 
32 
33 
34 
35 
36 
37 
38 
39 

40 
41 
42 
43 

45 
46 
47 

$ ,\'/, '/1= ~ 

040 - 1005 
040 - 1412 
040- 1422 
812 - 1008 
908 - 1248 
901 - 4019D 
929 - 4204 
040 - 0425 
941 - 1181 
938- 1104 

929 - 1111 
702 - 3205 
811 - 2114 
040 - 0411 
941 - 1199 
702 - 4201 
040-1710 
941 - 1106 
040- 0432 
910 - 4118 

901 - 4017- D 
040 - 0440R 
040- 0440L 
031 - 0340 
938 -1723 
936 -1017 
902- 2032 - B 
040- 0451 
938 - 1724 
040- 0470 
916-5205-B 
040-1802 
941 - 1208 
704- 2213 
040- 0480 
902 - 2032L - B 
831 - 3335 
941 - 1199 
936- 1020 
040 - 1441 

040 - 1431 
040- 2480 
040 - 2490 
910 - 4109 

929- 4204 
901 - 4015 -B 
705- 5245 

$ C ß f,r, CC 

tr-tf ~ -;; 1/ 3 ::,, Ass'y 
"J,,. -1,.q::~;f •:; 7 7- Ur.) 
r; ,t-L..:\:'.~;f o/ 7 Ä (:fi) 
1/-Jl.,17 o/ 1/ -y 

t:B:tv J \* 1/ 
Afij ~·;1., 1- (N, SW f1) 
SJZ~~ (:;kfl) 
7'□ 17fm 
Sjlfi;\=--
;f-JI.,-"( 7 1) / 7'' 

SJZ~~ (1Nf3:tL) 
? * -.L,.;j=!~ 
7( .-( JI., 1/- JI., 

tr-tf,m 
Sjlfi;\=--
? ,t-L.,t-.-(-JI., 

ttMI~ 
Sjlfi;\=--
tr-tf;f.7-
/\fij/\ fttl: ;I :t, 1/ 
Afij ~·;1., 1- (N, SW {i) 
tr-tf (ti) 
tr-tf (ir.) 
-"(71J ::,,7'Jr-7-
~·-;1.,-"(7 1) '/7' 
Cff3J.l:;1feli 
1J\ff3/\flj ;f JJ.; 1- (SW M) 
7'017 
;f-Jl.,-"Z 7 1) / 7'' 
""7 1) / 7' Jr- Ä 

1J\ff3Aflj1- •:; 1- (SW {i) 
7,,-.Z--fj- 20 X 54.5 
Sjlfi;\=--
V-J'-IJ 
.::c. '/ F-f v- 1-
lj\'/f3/\flj ;f{JJ.; f- (SW{-j') 
V -"(;J.; 1-
Sjlfi;\=--
C ff3 ll: ;I tHli 
~~ 

lfil~ 
Ä?Ä 1-17-;; 1/-y 

~{i~jjll::h 7-
/\flj /\ {i ll:;I * 1/ 

SJZ!fil~ (7':il) 
Afij ;f ;J.; 1- (SW {i) 
Ä 7°JJ ::,,7' 

:J' □ 'J, ~ -:t.f$ 405-1 
m ~ 00 ~ ti ~ 

UJI ~t±l LNo.1~16, 39, 40e;ü 

1 ' 
1 

WFS 1 
' MS x 12 1 

M6 X 30 (8T) 10 
M6 2 

1 
5x5x44 1 
6004 4 

M20 4 
1 

TC20358 3 
1 

5X5X24 1 
1 
1 

5X5X20 2 
2 

MS x 12 4 
M6 x 20 (8T) 2 1/-y-~';J.;f-

1 
1 
2 

6203LLU 2 
S-17 2 
MS x 16 4 

1 
6204LLU 1 

1 

MS 2 
1 

5X5X25 1 
7.5B -1 1 

1 
M8 X 16 (ir.) 1 
LB - 35 ( t,, •:; F) 1 
5x5x24 1 
S-20 1 

4 

2 
3 
1 

M6 x 10 1 

M6 1 
M6 x 12 (8T) 3 

·•· 

1 

-8-



2 a.----------. 

37 

~-­
~ 

19 33 

20 ~ 

~~~ 
29 318 T' 

,P- 14 

12 

" 

1 

2 

-9-

v 

34 
32 

30 

" 

16 

0, 
' 

22 

ü 



:iEh~iläB 405-1 
JeWNo. !ß ~ • ~ !ß C ~ ~ m ~ II IX ti" ~ "" 

1 040- 0041 :±fdlk~ 1 
2 902- 4033-B 1N~A%J;f-11,, 1- (SW M) MS x 20 (ST) 4 ; 

3 040- 0021 :±fdl 1 
4 938 - 1703 ,f-'-Jt,,-'(7 1) :,,,if 6003LLU 2 
5 936- 2035 Cff3.Ltßfau ' R-35 1 
6 040- 0031 7"- 1) ;r-Ä 1 
7 704- 1413 V7"-IJ 7.5A-1 1 
8 902- 2031-B ,J,ff3A%J ;f-11,, 1- (SW M) M8X 12 3 
9 936 - 1017 Cff3.Ltßlli S-12 2 
10 040 - 0051 7 1) 7 1/ 3 './7 ,( Ä 7 1 
11 040- 0061 7 1) 7 1/ 3 './7 ,( Ä 7 ;r-Ä 1 
12 901-4015-B AfIJ ;f{Jt,, 1- (SW M) M6 X 12 (8T) 3 
13 040-0130 1- 7 .::.:;t :,,, 2 
14 936-1025 Cff3.Ltßfau S-25 2 
15 040- 0071 7 1) 7 1/ 3 './ 1) :,,,7• 1 
16 040-0082 7 1) 7 1/ 3 '.,/ IJ :,,,7•fdl 1 
17 702-1305 ~-V Z17 1 
18 040- 0101 7 1) 7::., 3:,,, 1) :,,,7•fdlk~ 2 
19 938 - 1762 ;ff - Jl,,-'( 7 1) :,,, 7• 6202LLU 2 
20 901-4015- B AfIJ ,t-'Jl,, 1- (SW M) M6 x 12 (8T) 9 

0 21 040- 0120 71 '7 :,,,~fdl 1 
22 040 - 0110 Ä 7"cJ.r ,y 1-M~-v ZlO0 x lOT 1 
23 828 - 1212 7o/1/;l. 161825 1 
24 929- 2209 SJZ/M~ M16 1 
25 916-5206-B ,J,ff3A%Jf- o/ 1- (SW M) MlO 1 
26 040- 0173 711,- 1 
27 916- 6206-B ,J,ff3A%J f- o/ 1- (SW M) Ml0 (3:ffli) 1 
28 040-0150 7 '7 o/ f- it- - 7 (;i;Efi) 1 
29 823- 0204 t'l~1::•:,,, 10 X 2.3 1 
30 931 - 3192 Ä 7" 1) :,,, 7' 1::• :,,, (W) 5 X 16, 3 X 16 1 
31 040- 1570 Ä ""---!J" 17 X 22.5 1 
32 902- 2037 -F ,J,ff3A%J ;f-11,, 1- (W, SW M) M8x40 2 
33 040-0141 7 '7 o/ f- it- - 7 (~jj) 1 
34 040-1510 ra,TM 2 
35 040-1520 TM~ 1 
36 040-1501 7 7 o/ f-ii--7fFI/J7-k 1 
37 831 - 1333 V -'(Jt,, 1- LA - 33 ( t,, o/ F) 1 
38 040..,... 1910 l'\,y 7 Ä }- ,yr{ 1 
39 705- 3215 Ä 7 1) :,,,7• 1 

-10-



405-1 ? □ -:,$ 

¼ 
V 

41 

~/ 
5 ~ ,--- 38 

0~ 37 

1 ~ s[@ 36 

42~ ~35 
43~ 1 

~34 

33 

24 31 

~r 

✓~~)! 
47 !°'' (_ 111 10 

~ 
15 

-11-

ü 

( '\ 
\J 



0 . 

rr\ 
\,.j 

n 

~iliNo. 

Ass'y 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
11 
12 
13 
14 
15 
16 
17 
18 
19 
20 
21 
22 
23 
24 

26 
27 
28 
29 

31 

33 
34 
35 
36 
37 
38 
39 
40 
41 
42 
43 
44 
45 
46 
47 
48 
49 

$ ii'a • ~ 

040 - 1011 
040- 0331 
040- 0340 
908-4237-D 
908 -4239- D 
040-1540 
040- 0301 
040- 0182 
832 - 3142 
832 - 0040 

040- 0270 
910 - 3118 
040-1550 
938 - 1724 
040- 0470 
906- 1222 
056- 0490 
040- 0312 
824-1224 
930- 0230 
902-6060-A 
040-1301 
906-1223 - D 
056-0261 
929 - 2210 

040-0321 
828 - 1120 
040- 0293 
902-4053-B 

040-1210 

706- 1221 
040-2010 
040-1220 
040- 2000 
040-1230 
040-1241 
902-4032-F 
040 - 1460 
009-1262 
029- 2206 
930- 0228 
040-1283 
822-1301 
828- 2114 
916-4205- B 
009- 2900 
936-1025 

$ Cl :g f,ji 
'"' 

7 □ -5Ass'y 
7 0-7~/l,, 1--

7' 1) •;,/{ 

EB 1-- 5 Ä'J\;;t- 1/ (N, SW ft) 
EB 1-- 5 ,Ä/J\;;t- 1/ (N, SW f-1) 
@~ 
7 □ -571.1-1.. 

7c-7a~ 
C-7'f.:r.- ✓ 

'f.:r.- ✓ 1/::34;.., 1--

-}]7-
A~1Cft.lt;I ::r- 1/ 
,Ä/'{--lj- 20 X 9.5 *·-11,,~7 1J ;..,7' 
~7 1) ;..,7'7-,Ä 
~ ffl:Jtmi ;f-) 1,, 1--

,Ä/'{--lj- 20 X 18.5 
7 C-7 Ä -f'oJr o/ }--

miftt°;.., 
wu 1::·;.., 

1Nf3A~;f-;t,, 1-- (1Nf3Nft) 
7-1 f-'77'77-;, 1--

~~;j-;Jl,,}--
7-1 F5~ 
SJZ@~ 

7 □ -'5Ä7□ Jr-;, 1--

:1-;, 1/ .::L 

.x..;.., F7'1.I- 1--

1Nf3A~;r-1v 1-- (SWft) 

Ä-r-

Ä-f' 1) ;..,7' 
r{;;r-~l:t 
/'-;..,f-'Jv□ -;,7;:r-1/ 

/'-;.., i-:-11,, □ o/ 7 * 1/@~ 
/'-;.., Flv□ -;, 7 f--;, 1--

/'-;.., Fho-;, 7~i1'i7-1.. 
1Nf3A~ ;f-'Jl,, 1-- (W, SW ft) 

:1-;,1/.::t. lOXlO 
/'-;.., Flv□ -;, 7 il*ac -;, F 
SJZ@~ 
fljl:.';.., 
/'-;.., ~·;t,,o-;, 7 !.Ir~-

il".J 
:1-;, 1/ .::L 

1Nf3A~-;- -;, 1-- (SWft) 
17 o/ 1/1' 
C}f3.lt.;1"8 

-12-

m ~ II lt • ~ 

2~Jl J@.1±\No.1 ~5 ~ti-
4 ' 
28 

M6x 16 104 
' M6X25 8 

56 
2 
1 

# 40 - 42 .'1 1 < 1/ ::l -1 ;.., Hi) 
#40 1 

1 
MB X 12 ( 1-- ti 1) -9f:.) 1 

1 
6204LLU 4 

4 
M8x 16 8 

4 
2 

8 X 60 2 
3 X 25 2 
MlO x 60 (~;;r- 1/) 2 

2 
M8X20 2 

1 
Ml8 2 

2 
252830 2 

2 
MlO x 25 (8T) 2 

1 

1 
1 
1 
1 
1 
1 

M8 X 16 (8T) 3 
2 
1 

MlO 2 
3 X 20 2 

1 
Jl4!rf 10 1 
80F-1420 1 
MB 10 

2 
S-25 2 



405-l ll!t~iß 

Y55-5S 

Y55-5 J!.i:k-tR• 

22 

"l 

,----.....;:;;.lM ---i 
Jl,I 

-13-

u 

0 

0 
-

t:'.-75'-ft:'.::.,+t-;;z--(,y'f-



Je t:e No. :aß ifii 11 -ls- 'ftB C :g f,Ji m ~ 00 lt • ~ aa 

1 040- 2140 7,.4-y'f 1 
2 040-2290 -e ::..,-+J--7,.4 -:1 +nc~ 1 i 

3 040- 2130 :j1Jtlf:;I/J7,.4 o/7 1 
4 908-1217 Et)tJAVJ\;f-1/ M4X25 2 
5 040- 0952 ::J- F 

1 

1 
6 041- 0010 ,1{,yj'-1)-g 1 Y55 - 5S ffl 
7 041- 0100 7,.j'-- 1 Y55 - 5S ffl 
8 916- 2204 /'\f!j T •:; " M6 2 Y55 - 5S ffl 
9 901-4015 - D Affj ;f-11, 1- (N, SW M) M6 X 12 (8T) 2 Y55 - 5S ffl 
10 908-4236-D Et) 1- 5 7,.1J\;t_ 1/ (N, SW M) M6x 12 2 Y55 - 5S ffl 
11 753-1007 ,1{-yj'-IJ- GM14Z-3A 1 Y55 - 5S ffl 

13 003-4550-1 ,1{ o/ 7" 1) -f!IJ.:t 1 Y55 - 5S ffl 
14 003-4550- 2 7-:,,7 2 Y55 - 5S ffl 
15 041- 0020 =1 L,..,1{,y4'- / 1 Y55-5Sffl 
16 752-1001 ::r:..::..,1//Ä4o/7 1 Y55-5Sffl(-t--M) 
17 752- i00lK ::r:..::..,1/::..,+- Y55 - 5S ffl 
18 751 - 1001 ~.p·;t--:; l-7-4 o/7" 1 Y55 - 6S ffl 
19 901-4015-D Affj ;f-Jt, 1- (N, SW M) M6 X 12 (8T) 2 Y55 - 5S ffl 
20 041-0050-2 'r- -:I Jl,~ + 1 Y55 - 5S ffl 

0 21 041 -0050-1 'r--:/Jl,~- 1 Y55 - 5S ffl 
22 041-0050 Ac~ 1 Y55 - 5S ffl 
23 041- 0050- 3 Jr-7'Jl,~ (~.p·;t--:; l-7-4 o/7 1 Y55 - 5S ffl 

--e Jl,"E--7) 

0 

0 

-14-



goqn !!Pf~~pys 

11?:t-trll 
fi~jcjc ~it~*± i7-j-i!: 

i$i$$~$ 
JltJUßiil&zali 1 - 6 - 38 :;= 105 
ti! JttlJl(03)3452-4311 (::k~~) 

~~JC :fi1~~-~it~U 

u 

ü 




